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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-*) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

MNumber of Candidates Interviewed By
Day

PNEB BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § 9wer ¥ ofver 95 o i o Reel § ufe yRdg 391 gr ) 70 g § b
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What is the ratio of the number of candidates interviewed by SBI on Friday and Saturday together to that of candidates
interviewed by BOI on the same two days?

1.35:38
2.35:36
3.39:40
4. 45:46

(1)
(2)
(3)
(4)

A W N =
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1.35:38
2.35:36
3.39:40
4. 45:46
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(2)
(3)
(4)
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1[Option ID=43701] Question Description : dwbv_pg_gp36_eng_2_q1l
2[Option ID=43702]
3[Option ID=43703]
4[Option ID=43704]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
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HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
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ThaR 20 20 - 30 a4
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o
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The number of candidates interviewed by IDBI on Wednesday is __ 9% of the total number of candidates interviewed by all
the Banks on the same day.

1. 26.65
2.23.47
3.28.47
4. 2435

1) 1




) 2
3) 3
(4) 4

FUAR DI M1 31 &1 T3 R [l T e R & 2nfaa snafifal &1 Sen 34 faq ot §a1 gr ol 18 wener & wfia
1ol B Ho YA @1 o UiaRd (%) 57

1. 26.65%
2.23.47%
3.2847%
4.24.35%

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43705] Question Description : dwbv_pg_gp36_eng_2_q2
2[Option ID=43706]
3[Option ID=43707]
4[Option ID=43708]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

What is the number of candidates interviewed by all the Banks on Tuesday?

1.202
2.216
3. 208
4. 214

1 1
) 2




3) 3
(4) 4

TiaaR & 94t d&! gR1 o T "igTeR J wnfia snafifal fe e feaHt 82

1. 202
2.216
3. 208
4. 214

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43709] Question Description : dwbv_pg_gp36_eng_2_q3
2[Option ID=43710]

3[Option ID=43711]
4[Option ID=43712]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

Approximately, by what percent the number of candidates interviewed by SBI on Thursday increased with respect to that
interviewed on previous day?

1.80 %
2.96 %
3.88 %
4.92 %

(1) 1




) 2
3) 3
(4) 4

TY & 3 gR1T%AR 3 [l T gaT@R & 2niha srafifal @1 Yen 39 ud faa | ol T e R J wnfhd eiafifal &
T B SHUETT T Sha- Wia=id 96 157

1. 80%
2. 96%
3.88%
4.92%

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43713] Question Description : dwbv_pg_gp36_eng_2_q4
2[Option ID=43714]
3[Option ID=43715]
4[Option ID=43716]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as *-) are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day

PNE BOI IDEI SBI BOB

Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

Frafafes oifee § O9wer ¥ o Er 95 o8 i o Reel § o9 yrdm 91 gr 3 70 g § b
snafidr ¥ den weitfa &1 it § oo 9 (- ¥ w0 § ifEe) 9= £, it smavasar @ @ e I9% ufiees &t
TN F ST B | AT # 37 1 sffest F oy R uyt & Iy S

St gr1 foran T snaififal &1 6 -aR Wa@R

TaTahR o T4 srafifa) o) e
fea digq | e | g SrE | Tl | &a
| ) SE] g | &
THar 34 36 46 50 36
HITadR 42 - 28 56 50
EECIR 46 44 46 - 36
THaR . 28 24 46 36
ThaR 20 20 - 30 a4
HaR 34 52 40 40 48
o
E&W@ 224 | 218 216 246 | 250

What is the average of the total number of candidates interviewed by BOB and BOI from Monday to Friday?

1. 166
2.178
3. 184
4,218

1 1
) 2




3) 3
(4) 4

AR ¥ AR ad &l S ol 3R &1 3l 3015 gRT o T4 WaTah R | iHe sr=aial & ool YeH &1 SH4d fba- g7

1. 166
2.178
3. 184
4.218

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43717] Question Description : dwbv_pg_gp36_eng_2_q5
2[Option ID=43718]

3[Option ID=43719]
4[Option ID=43720]

Sl. No.6
QBID:36201006

Which channel of swayamprabha deals with social science-1 (Social and bevavioural sciences)?

1. PRABODH - Channel 03
2. VAGEESH - Channel 01

3. KAUTILYA - Channel 07

4, SANSKRITI - Channel - 02

1) 1

() 2

3) 3

4) 4

WY BT DH I o°d QoD fagH-1 (@Hifols Td ddeRr-aem) § 9afdd &7
1. &Y - 99d 03
2. gpftEr - <=4 01
3. Bifeed - I9d 07

4. %ol - T d 02

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43721] Question Description : dwbv_pg_gp36_eng_2_q6
2[Option ID=43722]

3[Option ID=43723]
4[Option ID=43724]
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Which of the following are the factors that affect learning?
A. Mental health

B. Attention

C. Gender

D. Readiness

E. Fatigue

Choose the correct answer from the options given below:

1.B, C and E only

2. A, B, DandE only
3.Cand E only

4. A Cand D only

(1)
(2)
(3)
(4)

A W N R

frefafed 9 9 d oRe &1 9 ¢ & 3™ @ uHiad o &7
A, AFTES W
B. @
ANTEED
D. el
E. UHH
i<l feu e fadeal & 9 W6l SR 9 -
1.®Haq B, C AR E
2.%ad A B, D ARE

3. HAACIHRE
4. HAdA A, C3RD

1)
(2)
(3)
(4)

A W N R

1[Option ID=43725] Question Description : dwbv_pg_gp36_eng_2_q7
2[Option ID=43726]
3[Option ID=43727]
4[Option ID=43728]
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Which of the following are the examples of Learning Management System (LMS)?
A. Schoology

B. Edmedo

C. Canvas

D. Bookcreator

E. LearnDash

Choose the correct answer from the options given below:

1.B, D and E only
2. A and Conly
3.A B, Cand E only
4.B, Cand D only

(1)
(2)
(3)
(4)

A W N R

T UaeH UOTEl (U UH UY) & 3aTel FEaad 4 & 4 82
A. TP
B. SIS
C. h-ad
D. g% fhuex
ALEER
i<l feu e fadeal & 9 W6l SR 9 -
1.Hac B, D 3R E
2.Bad A 3R C

3. BAAA, B, C AR E
4. ®ddB, C3ARD

1)
(2)
(3)
(4)

A W N R

1[Option ID=43729] Question Description : dwbv_pg_gp36_eng_2_q8
2[Option ID=43730]
3[Option ID=43731]
4[Option ID=43732]

Sl. No.9
QBID:36201009

Students watch and listen to the videos of a lecture before coming to the class. It is an example of
1. Lecture Method
2. Flipped Classroom

3. Programmed learning
4. Project Method

1) 1




2) 2
3) 3
(4) 4

T H o T ud el aran= & difedt SEd 3R d £ 98 frgat Jareeu a7

1. oRAM fafd

2. Jaid] Séfl (Thits deieEH)
3. BAHHEG T

4. Uiy fafd

1)
(2)
(3)
(4)

A W N R

1[Option ID=43733] Question Description : dwbv_pg_gp36_eng_2_q9
2[Option ID=43734]
3[Option ID=43735]
4[Option ID=43736]

Sl. No.10
QBID:36201010

Which of the following method is based on learning-central approach of Education?

1. Lecturing - Demonstration
2. Activity based scaffolding
3. Joyful Method

4. Inductive Method

(1)
(2)
(3)
(4)

A W N R

frfeiad A 9 o1 9 usfd Rien & sftrm-sisd SurE | anuiid g2

1. e -FeEElA

2. TIffafy snenfid urs (FBwica)
3. HFCeE® Ugfd

4. HNTHATHS Ugid

1)
(2)
(3)
(4)

A W N =

1[Option ID=43737] Question Description : dwbv_pg_gp36_eng_2_q10
2[Option ID=43738]
3[Option ID=43739]
4[Option ID=43740]

Sl. No.11

QBID:36201011

In quantitative research, providing a basis for more precise estimation of the degree of relationship among or betweeen
concepts is the function of

1. Surveying
2. Reviewing
3. Measurement
4. Sampling

(1) 1




2) 2
3) 3
(4) 4

AETH® Y § @RS & 91 3 ard Gatf @1 361 & e g STaH & 08 U SUR UGH BT Hgiead 3 |
U td vard 57

1. G0 BT

2. IRIGdIH BT
3. |10

4. Ufcag-

1)
(2)
(3)
(4)

A W N R

1[Option ID=43741] Question Description : dwbv_pg_gp36_eng_2_q1l11
2[Option ID=43742]
3[Option ID=43743]
4[Option ID=43744]

Sl. No.12
QBID:36201012

A major limitation of the postal questionnaire survey is

1. Need for supplementary questions
2. Availability of extra data

3. Need for a covering letter

4. Higher rate of non-response

(1)
(2)
(3)
(4)

A W N R

ST -IHTac Ha&l S T FHE HiHl- R & g

1. AP UYT BT HT=TGHl

2. 3faead &d (S21) [ Iuder

3. U8-TF (P dex) B a=gdd
4. YT DI I &

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43745] Question Description : dwbv_pg_gp36_eng_2_ql12
2[Option ID=43746]
3[Option ID=43747]
4[Option ID=43748]

Sl. No.13
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The photo-elicitation technique is used in

1. Experimental research
2. Visual ethnography

3. Applied research

4. Content analysis

(1) 1
(2) 2
3) 3
(4) 4

Fafdiad # 9 feed faa-3awiiia ddb-iie ol Wad [l wIdl 87

1. FARTIES 2y

2. =Y elia-quiF

3. VgEd Y

4. Tqumas &1 fqzeimo

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43749] Question Description : dwbv_pg_gp36_eng_2_q13
2[Option ID=43750]

3[Option ID=43751]
4[Option ID=43752]

Sl. No.14
QBID:36201014

Which of the following are advantages of quantitative interviewing over participant observation?
A. Wider range of issues can be discussed.

B. Events can be re-constructed.

C. Ethical aspects of research can be adhered to.

D. Name-calling is permitted.

E. Outsiders can be allowed to interrupt the process.

Choose the correct answer from the options given below:

1. A B and Conly
2.B,Cand D only
3. C, Dand E only
4. A D and E only

(1) 1
(2) 2
(3) 3
(4) 4




o

UiaHTTT U801 @1 gai-1 H (Ui ® HISThR ®H3- o ([HEfead 5 § DI a4 g7
A 5 & A0S WY & 991 &1 o Gdal 8l
B. T3l Bl G=: TRfard foban o U 51
C. TMe & GRS uall &1 SFureH a1 o 9adl o
D. HUTIeG Be- (H-DIeT) DI A ST &1l |
E. STe<) cafaaal ®f 39 URedT & §1d J aia- @1 ST & of 9 g
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B, C
2. %490 B, C, D

2. ®aAC, D, E
4. BFAA, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43753] Question Description : dwbv_pg_gp36_eng_2_q14
2[Option ID=43754]

3[Option ID=43755]
4[Option ID=43756]

Sl. No.15
QBID:36201015

Given below are two statements:
Statement I: Coding is an important process in grounded theory in which data are classified into well- defined categories.

Statement II: The researcher's interpretations decide his or her emergent codes in grounded theory, and different types of
coding are identified.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




BERAGE AR
DY - | : Bas B AUIRD [gid 3 U Aeayl Uieal g, [ormH g (827 & uRHItd &1 § atiiea fear S & |

T - 11 : el D1 AR AR Rigia o 3u I Te 3 FuiRa $3d1 § AR Teas oA & NE USRI B JgdH @
EIGIE

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B

3. @Y 1 qd e, g @y 1 TTad & |
4. | 3T T, g o 1 T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=43757] Question Description : dwbv_pg_gp36_eng_2_q15
2[Option ID=43758]
3[Option ID=43759]
4[Option ID=43760]

Sl. No.16
QBID:36201016

In an implicit business agreement, communication is

1. Ambiguous
2. Fragmented
3. Contrived
4. Extensive

1)
(2)
(3)
(4)

% Ho0dd AaaId GHd § N0 341 6idT 67

1. SHF
2. dfgd
3. HaSd (HeIFe8)
4. faxgd

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43761] Question Description : dwbv_pg_gp36_eng_2_q16
2[Option ID=43762]
3[Option ID=43763]
4[Option ID=43764]

Sl. No.17
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In organisational systems, orgnisational communication supplies

1. Attitudinal inputs

2. Political inputs

3. Social inputs

4. Entertainment inputs

1) 1
(2) 2
3) 3
(4) 4

s wonferal § 9T SaIev [Ggd! H1gfd sl 82

1. ST TG FA9e)
2. ASHITd® AT

3. gD AT

4. GRS 3TTd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43765] Question Description : dwbv_pg_gp36_eng_2_q17
2[Option ID=43766]

3[Option ID=43767]
4[Option ID=43768]

Sl. No.18
QBID:36201018

Which one of the following is a communication barrier?

1. Communicatee attention
2. Semantic distortion

3. Amplified image

4. Infographic

1) 1
(2) 2
3) 3
(4) 4

Fafataa o € o te Tu-anEn g2

1. GEINURITR! @1 &

2. 37 fgeum

3. yafiid Bfg (wufaess a9

4. e YR | A1 (3B b )

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43769] Question Description : dwbv_pg_gp36_eng_2_q18
2[Option ID=43770]

3[Option ID=43771]
4[Option ID=43772]

Sl. No.19
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Which of the following are objectives in marketing communication?
A. Belittling competitive brands

B. Category need

C. Brand awareness

D. Brand attitude

E. Brand purchase intention

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only

(1)
(2)
(3)
(4)

A W N R

ffeiad 4 9 @19 fauue g2 & 3520 57

A, Ut §isy ©f A< 1 S

B. 401 BI SfTa=G bl

C. 58 & 9R H SNE®dl

D. 1S &I SHfHgR

E. §8 & %Y &1 3304l

i<l feu e fadeal & 9 W6l SR 9 -
1.HAUA, B, C, D
2.%dt B, C D, E

3. ®BadAA, C, D, E
4. ®ddA, B, D, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=43773] Question Description : dwbv_pg_gp36_eng_2_q19
2[Option ID=43774]
3[Option ID=43775]
4[Option ID=43776]

Sl. No.20
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Given below are two statements:

Statement I: When messages are delivered by popular sources, they have higher attention and recall of the receivers.
Statement II: A highly credible source may not score much in the areas of expertise, trustworthiness and likability
In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

A W N R

EIECAE AR
HY - | T8 DY Tl gRI Ha¥ WaH U Id § T 370! Aadbdisf ¥ J=or &M R ¥R W gidl 5 |
DY - 1| : Ul AN fag-ig I faRivgd, [aya-iadr-ai Sk gbert & &30 5 e @R uId 8! 1 & gdbdil
IWE DUl & e F Fafaied feeedl § 9 98l s g -

1. ®YF | 3R 11 EF 98T 8

2. BYA 1 3R 11 G Ted & |

3. %Y | Tl g, g Py 11 TTad § |
4. @ T T, g I I TR B

1)
(2)
(3)
(4)

A W N R

1[Option ID=43777] Question Description : dwbv_pg_gp36_eng_2_q20
2[Option ID=43778]
3[Option ID=43779]
4[Option ID=43780]

Sl. No.21
QBID:36201021

The ages of two sisters A and B are in the ratio of 7:6. After 12 years, the ratio of their ages will be 9:8. Find the difference
between their ages.

1.5 years
2.4 years
3.6 years
4.8 years

(1)
(2)
(3)
(4)

A W N R




A R B Gl dgHl ®1 31 7:6 & S-IUIA H &1 12 T4 UHTd SAD! 31 BI Ul 9:8 BIII SADI Y & HH 3aR Jd DIlag?

1.539
2.494
3.694
4.89%

1)
(2)
(3)
(4)

A W N R

1[Option ID=43781] Question Description : dwbv_pg_gp36_eng_2_q21
2[Option ID=43782]
3[Option ID=43783]
4[Option ID=43784]

Sl. No.22
QBID:36201022

In a certain code language:

A) "It is dark outside’ is coded as: 'la sa ka tu'

B) ‘It is still raining’ is coded as: 'sa la sira’

C) 'Raining heavily outside’ is coded as: 'ra ha tu’

How 'dark’ and 'heavily’, respectively, are coded in that language?
Ctut &si
Jlat & tha'

1
2
3.'sa" & 'ra’
4. 'ka' & 'ha’

1)
(2)
(3)
(4)

A W N R

ie farddt e v H:

A. 3¢ 39 S HIGCHZS' DI TN °l B g & €U H Beds 1od1 T g

B. 3¢ 31 eq ST &1 I a1 W I & €U H Heas [odl ™

c. I efadl oMSeuREs &l VBT & €U H Beas (odl ™ o

il It HIWT H R S 3R Biadd 3 fbu T ¥ e fear S
1. SR
2.1 3R =T

3, 9T S
4. @I 3R 7T

1)
(2)
(3)
(4)

A W N R

1[Option ID=43785] Question Description : dwbv_pg_gp36_eng_2_q22
2[Option ID=43786]
3[Option ID=43787]
4[Option ID=43788]




Sl. No.23
QBID:36201023

What number can replace question mark (?) in the series given below?
1,4,7,13,22 37,61,100,7

1.163
2.161
3.171
4.173

1)
(2)
(3)
(4)

A W N R

I 21 718 JRgar H 1 O Y@= Uy a9 (7) ®f wiawiitd &3 2
1,4,7,13,22,37,61,100,?

1.163
2,161
3.171
4.173

1)
(2)
(3)
(4)

A W N R

1[Option ID=43789] Question Description : dwbv_pg_gp36_eng_2_q23
2[Option ID=43790]
3[Option ID=43791]
4[Option ID=43792]

Sl. No.24
QBID:36201024

A sum of money deposited in a bank at a simple interest per annum becomes T 5200 in 5 years and 5680 in 7 years. Find
the rate of interest per annum.

1.6.5%
2. 6%
3.5%
4.5.5%

(1)
(2)
(3)
(4)

A W N R

fe Tl s H SR D1 T3 pal Y-RIRT Ui 99 IR &A1 o SATYR U 5 a1 H T 5200 941 7 991 H T 5680 81 W1l g1 f Widay
o7 X J1d Do

1.68.5%
2. 6%
3.5%
4.5.5%

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=43793] Question Description : dwbv_pg_gp36_eng_2_q24
2[Option ID=43794]

3[Option ID=43795]
4[Option ID=43796]

Sl. No.25
QBID:36201025

The ratio between Sale price (S.P.) and Cost price (C.P.) of an article is 5:3. Find the ratio between profit and the cost price of
that article.

1.2:3
2.4:5
3.2:5
4. 5:2

1) 1
(2) 2
(3) 3
(4) 4

ic; Tt 9% & fdshd Hed (S.P.) Ud TNTd Hd (C.P.) & A U 5:3 51 Tl 39 9% & oy Ud TFTd Hed & HE 3UTd [
DIl

1.2:3
2.4:5
3.2:5
4.5:2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43797] Question Description : dwbv_pg_gp36_eng_2_q25
2[Option ID=43798]

3[Option ID=43799]
4[Option ID=43800]

Sl. No.26
QBID:36201026

Which informal fallacy is committed in the following statement - "Famous singer Mr. Shantanu says ABC toothpaste boosts
our immunity, therefore we must buy ABC toothpaste™?

1. Appeal to Ignorance

2. Red Herring

3. Strawman

4. Appeal to Inappropriate authority

(1) 1
) 2
(3) 3
(4) 4




Fafeied oy & &F 91 3F@RS ad Y & - UG Tad o 2iar] + wel fis v & dader g9t ufakeT o 9e §,
Fafen g4 U o <aHeH @l afeul 7

1. WRFHAS gfad
2.¥s 8l

3. T (919 &1 o)
4. UG UIUSR 3G

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43801] Question Description : dwbv_pg_gp36_eng_2_q26
2[Option ID=43802]

3[Option ID=43803]
4[Option ID=43804]

Sl. No.27
QBID:36201027

Which of the following statements are contrary to each other as per traditional square of opposition?
A. All plants are oxygen producers.

B. Some plants are oxygen producers.

C. Some plants are not oxygen producers.

D. No plants are oxygen producers.

Choose the correct answer from the options given below:

1.B and C only
2. A and D only
3.Aand Conly
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4

URAR® &Ry & & SuR FEffed § ¥ ®H ¥ $YF RER fawld 82
A T UTGY 3fRioH Sae® Bid &

B. ©S UIGY SHTRfioH JdG® aid gl

C. PS UIGT HRioH IAGH T8l 8l o
D. &3 f UTgU HieoH IdG® el el &l
e fen e fowel 4 O W8l SR A -
1.®adB 3R C
2. 59 A HR D

3. HIAA IR C
4.%ad B 3R D

(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=43805] Question Description : dwbv_pg_gp36_eng_2_q27
2[Option ID=43806]
3[Option ID=43807]
4[Option ID=43808]

Sl. No.28
QBID:36201028

Which of the following statements are logically equivalent?
A. No lions are herbivorous animals.

B. No herbivorous animals are lions.

C. All lions are non-herbivorous animals.

D. All non-herbivorous animals are non-lions.

Choose the correct answer from the options given below:

1.B, Cand D only
2.Cand D only
3.B and D only
4. A, B and C only

(1) 1
(2) 2
3) 3
(4) 4

FufiRad & 9 ®F 4 $uF difde ©U U Tadd 62
A. ®ig Hl IR BRI ug 6l 8idl 81
B. BT ft IHTERT U IR TE g 3
C. 9l IR IR-ASRERI U Eid g
D. Tff TR-THRH U3] R-I B T
d feu U fadhedl H 4 98l 3w 94 -
1. $dd B, C AR D
2. BaAC AR D
3. WA B3R D
4. BAdAA B AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43809] Question Description : dwbv_pg_gp36_eng_2_q28
2[Option ID=43810]

3[Option ID=43811]
4[Option ID=43812]

Sl. No.29
QBID:36201029




If the statement -"No lions are herbivorous animals” is given as true, then which of the following statements can be
immediately inferred to be true?

1. Some lions are not carnivorous animals.
2. All lions are herbivorous animals.

3. Some lions are herbivorous animals.

4, Some lions are not herbivorous animals.

1) 1
(2) 2
3) 3
(4) 4

U B - B 1 I ADHTER U el 51l & ¥l S ©u # fear man 8, & Fafafad d @ o9 9 ouF diois €0 4 90
& & H 1A foar < gl 82

1. D% I HGER U 42l 2ld &

2. 93! TR SRR U Ed & |

3. % IR PR UY Bld 5|

4. D% IR AIHERI U el gid &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43813] Question Description : dwbv_pg_gp36_eng_2_q29
2[Option ID=43814]

3[Option ID=43815]
4[Option ID=43816]

Sl. No.30
QBID:36201030

In which type of following inference the middle term is both positively and negatively related to the major term as per
Classical Indian School of Logic?

1. Kevalvyatireki
2. Kevalanvayi

3. Anvayavyatireki
4. Satpratipaksa

OR!
(2) 2
3) 3
(4) 4

YR TR T 7l o SJHR FEfaRad H 9 fod $FAH H 39 Ug 96RIEAS Ud ADRIHS gHI YoR d JAUE H daidd
87

1. AT D]
2. paarad!
3. Hggeafad!
4. gaufagaf

1 1
) 2
3) 3




(4) 4

1[Option ID=43817] Question Description : dwbv_pg_gp36_eng_2_q30
2[Option ID=43818]
3[Option ID=43819]
4[Option ID=43820]

Sl. No.31
QBID:36201031

Consider the following Snapshot of MS-EXCEL worksheet:

A B C D
1 |Roll Number Test Marks-1 Test Marks-2 Total marks
2 201 80 60 140
3 202 70 50 120
4 203 40 30 70
5 204 30 32 62
6 |205 85 85 170
7 206 65 80 145
8 207 72 96 168
9 |208 25 32 57
10 |209 90 78 168
11 1210 25 40 65
12

The formula =SUMIF(B2:B11,"<50", D2:D11) in cell D12 will result in __.

1.120
2. 254
3.90

4. 244

1) 1
(2) 2
3) 3
(4) 4




UH UH-URd SAUES & HEikiRdd HEE R TR SN

A B C D
1 |IHHIS |HIET-3F-1 [TE1-3id-2 [ 3id
2| 201 80 60 140
3| 202 70 50 120
4| 203 40 30 70
5| 204 30 32 62
6| 205 85 85 170
7| 206 65 80 145
8| 207 72 96 168
9| 208 25 32 57
10| 209 90 78 168
1] 210 25 40 65
12

cl D12 H A = SUMIF(B2:B11,"<50",D2:D11) I UIRUITH BT

1.120
2.254
3.90

4. 244

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43821] Question Description : dwbv_pg_gp36_eng_2_q31
2[Option ID=43822]

3[Option ID=43823]
4[Option ID=43824]

Sl. No.32
QBID:36201032

Given below are two statements:

Statement |: Chatbot is an example of Digital Intelligence.

Statement |l: Amazon's ‘Alexa’ and Apple's 'Siri* are examples of Artificial Intelligence.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




@ - | : dedle, fafada gfgn @=die-g) &1 t& 3eE &
TUA - 1| : AW BT TAEET R T0d &1 YR $HH GG & Saev gl
I PYHl B el H FEfaRed el H 9 gl 3w 9 -

1.9 | 3R 11 SHI T &

2. @ 1 R 11 EF1 TTad 8|

3.9 1 qel 8, g @Y 1 Tad B |
4. T TTAd E , g YA 1 T8 B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43825]
2[Option ID=43826]

3[Option ID=43827]
4[Option ID=43828]

Question Description : dwbv_pg_gp36_eng_2_q32

Sl. No.33
QBID:36201033

Which of the following are the advantages of Dynamic RAMs (DRAM) over Static RAMs (SRAM)?

A. They are much less expensive to manufacture than SRAM.

B. They consume less power than SRAM.

C. They have a higher storage capacity than SRAM.

D. They are much faster than SRAM when it comes to data access.

Choose the correct answer from the options given below:

1. A, B and Conly

2. A and Conly
3.B and C only
4. A and B only

1) 1
(2) 2
3) 3
(4) 4




WIfI® T (SRAM) BT 3HU&f fdd 39 (DRAM) & a1y FofdRaa d S @ 9 82
A. e 1 3T qa1 8 3701 fafHior 9gd oH @diar sl 81
B. T RIfd Y0 B U BH FHoll Bl SUHT & &
c. 37 Sfad X0 Bt oUeT 3= HSRU &Hd sl g |
D. U BIeT (™) TRy & o H Wide WY dsgd dd eld g
< U e st & ¥ g8l IR g4 -
1. Had A, B AR C
2.%ad A R C
3. Haa B AR C
4. HIAA AR B

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=43829] Question Description : dwbv_pg_gp36_eng_2_q33
2[Option ID=43830]

3[Option ID=43831]
4[Option ID=43832]

Sl. No.34
QBID:36201034

In Computer Networking, which type of wired transmission medium has a core of refined glass?

1. Optic fibre

2. Coaxial cable

3. Shielded twisted pair

4. Unshielded twisted pair

(1) 1
(2) 2
(3) 3
(4) 4

DR Hedld H, Fafaiad H ¥ foy dRged YUu0 HIEH & UER H UREd bid & $1S sidl o7

1. AP B

2. gHmE T

3. UIRETd oamdfeid 9o
4. SURRIEG HEfdd g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43833] Question Description : dwbv_pg_gp36_eng_2_q34
2[Option ID=43834]

3[Option ID=43835]
4[Option ID=43836]

Sl. No.35
QBID:36201035




Two binary numbers are added as given below:

0 b 01
c 1 1 a
1 0 d 1

Then (a, b, c dy=__ .

1.(0,0,1, 1)
2.(0,1,0, 1)
3.(1,0,0,1)
4.(1,0,1,0)
(1) 1
() 2
(3) 3
(4) 4

% &l Fanurl 9= (9 UeR 9 Sl 9 &:

1[Option ID=43837] Question Description : dwbv_pg_gp36_eng_2_q35
2[Option ID=43838]
3[Option ID=43839]
4[Option ID=43840]

Sl. No.36
QBID:36201036

Given below are two statements:
Statement |: Wind energy has high energy density.
Statement II: Wind energy is an intermittant source of energy.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
(4) 4




EIEEALAE N AR

T - 1: 93 HeAl § 3 Sl 9 el o

BY - 11 : Foll Bl TP HRIGD TId g el sidl 5
Swdd DUl & 1cilies H Fafaiad el § 4 w8l s g -

1. @Y | 3R 11 SH 9el 2
2. %Y | AR 11 ST A &
2. YT B 8, g Y 11 T © |
4. @ TAd ¢, g Y 1 T8I B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43841] Question Description : dwbv_pg_gp36_eng_2_q36
2[Option ID=43842]
3[Option ID=43843]
4[Option ID=43844]

Sl. No.37
QBID:36201037

Ozone layer is in

1. Thermosphere
2. Mesosphere
3. Stratosphere
4. Troposphere

1)
(2)
(3)
(4)

A d Fgfafaa 4 9 feod el 82
1. STE AgHSA (YR ER)
2. 9Hsd

3. gHAHSd
4. giydsda

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43845] Question Description : dwbv_pg_gp36_eng_2_q37
2[Option ID=43846]
3[Option ID=43847]
4[Option ID=43848]

Sl. No.38
QBID:36201038




Given below are two statements:
Statement |: Millennium Development Goals (MDGs) were set to be achieved by 2030.
Statement |I: Sustainable Development Goals (SDGs) were set to be achieved by 2015.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

EIERAAIE A
DY - | : T dle: G deaf (@8 21 o) &I a4 2030 I6 U B B A& @1 797 41|
FHY - 11 : GyRofig GHra asaf @y St o) @i adf 2015 9@ U $ & T6d @1 747 o7
Iudad Bl B 3o | Faftiad el J 9 58l W g -

1. Y | 3R 11 &FT T8

2. BYA 1 3R 11 GFI T g |

3. 1 el g, fog Py 1 Tad § |
4. @ T T, g I I TR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43849] Question Description : dwbv_pg_gp36_eng_2_q38
2[Option ID=43850]

3[Option ID=43851]
4[Option ID=43852]

Sl. No.39
QBID:36201039

Official languages for International Solar Alliance are

A, Hindi

B. English

C. French

D. Spanish

E. Chinese

Choose the correct answer from the options given below:

1. A B and Conly
2.B,D and Eonly
3.B,Cand D only
4.B, C and E only




(1) 1
(2) 2
(3) 3
(4) 4

SIRIPTY TR Y & 78 I HE &

A fel

B. 3%sit

C. i

D. &

E. T

i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B 3R C
2.%qqB, D3R E

3. ®ad B, C AR D
4. %Had B, C ARE

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43853] Question Description : dwbv_pg_gp36_eng_2_q39
2[Option ID=43854]

3[Option ID=43855]
4[Option ID=43856]

Sl. No.40
QBID:36201040

Match List | with List 11

List | (Medium) |List Il (Disease)

A, Water borne  |Il. Trachoma
B. Water washed |Il. Malaria
C. Water based  |lll. Cholera

D. Water related |IV. Schistosomiasis

Choose the correct answer from the options given below:

TA-ILB-LC-1,D-1V
2ZA-NILB-1L,C-IV,D-1
A-LE-ILC-N,D-1V
4A-LB-IV.C-III,D-1

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

W -1 @) ESURICUD)

A Ad-ofd |, SHET

B. Sia-uTfad |1, FaRa

C. -3 111, gl

D. wid-Hat . ey
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IL,B-1,C-1l, D-1IV
2ZA-NLB-1L,C-IV, D-1
3.A-LEB-ILC-1, D-IV
4A-LB-IV.C-1ll, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=43857] Question Description : dwbv_pg_gp36_eng_2_q40
2[Option ID=43858]
3[Option ID=43859]
4[Option ID=43860]

Sl. No.41
QBID:36201041

Which among the following is based on passive learning, where the child listens to teachers and follows directions from
them?

1. Cooperative learning

2. Conventional learning

3. Non-conventional learning
4. Play way learning

(1)
(2)
(3)
(4)

Frafaiad # € @ Pfspy it W enuiid 8, e s=1 gl ®f g1 § 391 3 gRI &2 18 FEl &1 $ur el
87

1. DRI AH
2. URUR® ATy
3. IR-URURS A
4. 181 Ugld e

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=43861] Question Description : dwbv_pg_gp36_eng_2_q41
2[Option ID=43862]
3[Option ID=43863]
4[Option ID=43864]

Sl. No.42
QBID:36201042




Given below are two statements:
Statement I: It is said that in the early Vedic period, women had equal rights to get any type of education.

Statement II: In the last phase of Vedic period, as there were no separate gurukuls for girls of the age 12 years and above,
they could not receive higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

EICEAEAIE AT
@Y - | : U8 HFT I1dT ¢ b Ud dic® o H Afgars! @ [adl 1 UeR 31 R8T und &3+ & TuH HER 41

@Y - 11 : dicd DI & SifaH IR H 981 IR 12 94 Ud S8 SR dI 3 B dliciorsd gg dlg el [oHd ol ¥, 3HIU d
I &)1 Ure 81 R G|

SUddd Byl & Heis § FafaRed et § 9 98l w9 -
1. @Y | 3R 11 gHI T €
2. @Y | AR 11 G TEd & |
3. @YU HEl e, g @Y 11 TTEd & |
4. Y| Tad &, fog B 1 98T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43865] Question Description : dwbv_pg_gp36_eng_2_q42
2[Option ID=43866]

3[Option ID=43867]
4[Option ID=43868]

Sl. No.43
QBID:36201043

Given below are two statements:

Statement |: The Indian universities to reach global standards need sustained support for programmes in research and
development.

Statement II: The ‘knowledge economy’, as envisaged by the Knowledge Commission, does not need government
involvement in higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1




2) 2
3) 3
(4) 4

EICRAREIC A =

DY - | : D HHDI DI U DA 5 HRAIY faxfaeradl &f S8 AR fday Uet Sl & oy Jad gad= i
HIIGDHdl & |

@Y - 11 : TH AR gRI Bicdd TH- AT & &7 H I@-T1401 H SR HHST 1 SAaeddhdl 1ol o
Iuad HYH & H1ele | Fofied e 3 3 9 S| -

1. @Y | SR 11 GF Tel 8l

2. @Y | SR 11 Gl TTad 8

3. @Y1 el g, fog @Y 11 Tad & |
4. YA | a8, fobeg B 11 HET B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=43869] Question Description : dwbv_pg_gp36_eng_2_q43
2[Option ID=43870]
3[Option ID=43871]
4[Option ID=43872]

Sl. No.44
QBID:36201044

The recommendation that no student should be allowed to specialise in teaching a subject unless he had it in BA/B.Sc was
made by

1. The Yashpal committee

2. The Knowledge Commission

3. The Education commission (1964-66)
4. The N.R. Sarkar committee

1)
(2)
(3)
(4)

A W N R

Tg R Fgifed 5 U feae g1 of 1 0 (64l ol U 85 & 99 9o & 39 ag o9 9w J &y o g9 O 7 feargl, 39
IO faftiy e &1 srafa 98 § o 2

1. JRUTS FiEfd

2. 9 R

3. TRT&IT TFT (1964-66)
4. T.3R. WHR Al

1)
(2)
(3)
(4)

A W N =

1[Option ID=43873] Question Description : dwbv_pg_gp36_eng_2_q44
2[Option ID=43874]
3[Option ID=43875]
4[Option ID=43876]

Sl. No.45
QBID:36201045




In its formative years, which university had taken to the strategy of adopting multi-media instructions through Gyan Vani
and Gyan Darshan?

1. Karnataka State Open university

2. Indira Gandhi National Open university
3. Dr. B.R. Ambedkar open university

4. Yashwant Rao Chavan open university

1)
(2)
(3)
(4)

A W N R

HUH RS TGP D THY FTH) H Haiied SH-U fayfaeneg 3 FHari 3R 4 T34 & 71 § Heel-Hisar gl
DI HUATE S B BRI SHGART o 2

1. PAleH ¥ qad faufaenay

2. gie TITel ¥y Hed fuideney

3. SlaeY 913K, sfEso: ad [gyfaame™
4. GREANId Fodl o fayfaemea

1)
(2)
(3)
(4)

A W N R

1[Option ID=43877] Question Description : dwbv_pg_gp36_eng_2_q45
2[Option ID=43878]
3[Option ID=43879]
4[Option ID=43880]

Sl. No.46
QBID:36201046




Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

FrafafEa e 1 ufde 7 wst F S S

9 5@ ¥ o e T ¥ 99e 0 g 9 IR & U Sl S@d B 3 Afal-Hadd & iaes & 5O B 36 o
AR & A J Giami-ar 3 RUd S39d 3R Biafed (@ 3B Uh) & Myddiel § 39 W™ J U6 11d & UeR &
N B I U YR AIe 30U B & U &l AiD! &1 faey 6 396 Rugex o 39 ulssar & ugad Heil 9 1.5
N 3H¥® Sl I B | Had- Bl Afdd DI WIeH b ol 389 gd & Tyl J, Ruael 3 3aw ol 4 iiE Sl &l SUHA
f&a1 U1l R A1®] @1 Tl & [ Siami-a1 TarTEne § Ry &1 T3 39 Uil &l 98 095 WaaH 8 spfi sa Y &9 &
GHIH I FHY T
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According to current estimates, power generation accounts for how much of the total GHG emissions on earth?

1. 10-15 percent
2. 25-30 percent
3. 40-45 percent
4. 50-55 percent

1) 1
() 2
3) 3
(4) 4

A MG & HTIR, TH TR Td ol Td o Sodo H [d69d 3cda- & aFeH [dal 87
1. 10-15 Uic=Id
2. 25-30 Uid=d

3. 40-45 Hia2d
4. 50-55 Uir2rd

(1) 1




(2) 2

3) 3

4) 4

1[Option ID=43881] Question Description : dwbv_pg_gp36_eng_2_q46
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3[Option ID=43883]
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Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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Given below are two statements:

Statement I: Energy produced in the sun and the stars is through fission.

Statement II: Energy produced through fission is relatively cleaner as compared to that from fossil fuels.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.




(1) 1
(2) 2
(3) 3
(4) 4

EIEAGIE A
DY - | : T4 F Rl H IF Sl [ddS- & HEH Y gl o
DU - || : f[aEE & J1eH ° 3dd Sl oilard 389 4 U FHdl &I gal H SUEod WS eidl o
I HYAl B TSP H Fieiad [ecdl # 9 Hel Sw 9 -
1. @Y1 3R 1l H Fg1 g
2. WY1 SR 1 GH A g

3. @YU 1 Hel g, fog @Y 11 Tad § |
4. YA | a8, fobeg B 11 HET B

1) 1

(2) 2

3) 3

(4) 4
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Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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Scientists have been trying to produce energy through fusion for

1. The last 20 years
2. The last 40 years
3. The last 50 years
4. More than 90 years

1) 1
() 2
3) 3
(4) 4

It o Fafafad # 9 feaw ouf @ Jaga & A1 T Sl 309 - &1 Ua" 3 I8 o7
1.fam@ 20 a9
2. fadao oy

3. @ soad
4. fF@ o0 T

(1) 1




(2) 2

3) 3

4) 4
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4[Option ID=43892]

Sl. No.49
QBID:36201049

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Several countries of the world are moving towards renewable energy sources for their development needs.
Reason (R): The renewable resources of energy are of stable nature.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.




1) 1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission techneology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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For every 100 units of energy consumed in the process of fusion, the National Ignition Facility in California was able to
produce how many units of energy?

1.50
2.100
3.125
4. 150

OR!
(2) 2
3) 3
(4) 4




oo @1 ufsear | Ufd 100 gfHe @1 ol @ud I SiawiHar g S=Fd 3hRE wErmee Hafak
Jad @R U i

1.50
2,100
3.125
4. 150

(1)
(2)
(3)
(4)
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2[Option ID=43898]
3[Option ID=43899]
4[Option ID=43900]

Paper II : 9-Education

Sl. No.1
QBID:9001

Which of the following Indian School of Philosophy does NOT reject Vedic Authority?

1. Carvaka Philosophy

2. Bauddha Philosophy
3. Sankhya Philosophy
4. Jaina Philosophy

1)
(2)
(3)
(4)

A W N R
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1. 91ai® a2
2. 491G &3
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4.5 g8F

(1)
(2)
(3)
(4)
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